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HISTORY

SENIOR SHRERAM MODHE. HIGH SCHOOL

VIIIT SOCIAL SCIENCE ASSIGNMENT (History) 20201 2021

Chapter 89 (ii) (Challenging the Caste System)
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EXTRA QUESTIONS

Important terms:
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Hierarchy z A system insociety in which people are graded into different categories.

Heralded z Brought in, introduced.

Denounce z Strongly criticize or condemn.

Untouchability z Practice of not allowing the down trodden touch an upper caste or be touched
by them.

Dalit z Personbelonging to a family who has been performing menial jobs since ages.

Harijan z Name given to the untouchables by Mahatma Gandhi which means children of God.
Hegemony z Control or domination by one country, section, class or organization.

One Word Answer :

1.

Who was the Guru of Swami Vivekanand?
Ans.: Ramakrishna Paramhans

Who is known as Lokhitwadi?
Ans.: Gopal Hari Deshmukh

Who wrote the book Gulamgiri?
Ans.: Jyotiba Phule

Which social reformer heralded a social revolution in Andhra Pradesh?
Ans.: Kandukuri Veeresalingam

When was the Hithakarani opened by Veersalmgam?
Ans.: 1908

To which caste did Shri Narayan Guru belong?
Ans.: Ezhava caste

. When and where was the Sabarmati Ashram founded?

Ans.:In Gujrat in 1916

Name the weekly magazine started by Mahatma Gandhi?
Ans.: Harijan

Which weekly magazine was started by Dr. B.R Ambedkar?
Ans.: Mooknayak

10.When was the Poona Pact signed?

Ans.: 1932



11.Who was the chairman of the Drafting Committee of the constitute Assembly?
Ans.: Dr. B.RAmbedkar

12.Who is known as Periyar?
Ans.: EV Ramaswamy Naicker

13.Who established temples in which no images of gods and goddess were kept?
Ans.: Shri Narayan Guru

14.Who founded the Ramakrishna Mission?
Ans.: Swami Vivekanand

Very Short Answer Questions:

1. Mention any two restrictions which the untouchables suffered from.
Ans.:

i) They could not draw water from wells & tanks used by other castes.
i) They could not enter Hindi temples or study the shastras.

2. Why were the depressed classes attracted to Christianity?
Ans.: Becauseof its casteless nature that offered them equality and respect.

3. Name two social reform movements that attacked the caste system.
Ans.: The Brahmo Samaj, the Prarthana Samaj, the Arya Samaj, the Ramakrishna Mission and the
Theosophical society attacked theaste system.

4. Why did Swami Vivekanand start the Ramakrishna Mission?
Ans.: He wanted to propagate the teachings of his guru.

5. What is the best way to serve God according to Swami Vivekanand?
Ans.: Swami Vivekanand believed that the best way to serve Gadto serve mankind.

6. How did Veersalingam herald a social revolution in Andhra Pradesh?
Ans.( A OOAOOAA A 4A1 6¢CcO EIT 001 Al OEOI AA O6EOAEA
the caste system and encouraged interaste marriages.

7. Whatwasthel T OOT 1T £ 3EOE . AOAUAT ' 00080 1 EAZEAe
Ans:4 EA 11001 T &£ EEO T EEAA xAO O/TA "TA O /TA 2A
8. Which institution was established by Shri Narayan Guru to carry out social reform?
Ans.:( A £ 01 AAA O3 0E . AOAUAT $EAOI poputadzednis Adliehdf A ¢
60/1TA AAOGOAR T1TA OATECEIT ATA TTA "1 A868
9. Why did Ramaswamy Naicker criticize the Hindu scriptures?
Ans.: He said that these texts had been used to establish the authority of Brahmins over low castes.
10.( T x AEA z@REspect@@OMii AT 086 T £/ 0AOEUAO AAT AZEO OEA A
Ans.: This organization fought for securing reservations for low caste people in government jobs.
11.Why did Mahatma Gandhi denounce untouchability?
Ans.: Because he considered the practice of untouchability inhuman aral shame and curse for
humanity.

12.Write the contribution of Veersalingam in the field of writing.



Ans.:
i) He started a Telugu journayO6 EOAEA 6 AOAEE| E& 8
i) (A xOl OA OEA EEOOO 4A1 6¢CcO 11 OA1 O2AEAOARAEEAOQA
13. What were the views of Shri Narayan Guru regar ding caste system?
Ans.: He regarded distinctions based on caste as meaningless. He said that all of us belong to one
caste that is humanity.
147EAO0 xAO $08 "82 !'I AAAEAOSO [ EOOEITT ET 1 EEAe
Ans.: Dr. Bhim Rao Ambedkar devoted all his life to the cause of thewver castes and ceaselessly
fought against the caste system.

15. Discuss two contributions of Dr. Ambedkar for the upliftment of depressed classes?
Ans.:
i) Dr. Ambedkar started an organization called Bahishkrit Hitkari Sabha for the education and
social upliftment of depressed classes.
i) Due to his efforts more seats were reserved for the depressed classes in the legislatures.
16.7EAO0 xAO OEA DPOOPTI OA 1T &£ OEA xAAEI U O-11ETAUAE
Ans.:.4 EOl OCE EEO xAEI U O-1TTETAUAEG |1 AAT ET GckdcAAA/
orthodox Hindu beliefs.
17.What was the greatest achievement of the social reformers in challenging the caste system?

Ans.: It was due to the sustained efforts of the reformers that the constitution of India has
abolished untouchability.

18. Explain two provisions of the constitution for removal of untouchability.
Ans.:
i) The practice of untouchability is an offence punishable by law.
i) The constitution also forbids any restrictions on the use of wells, tanks, bathing ghats, hotel etc.

TEXTUAL QUESTIONS
Short Answers Questions:

1. Name the prominent reformers of the south.
Ans.: Kandukuri Veeresalingam, Shri Narayana Guru and E.V. Ramaswamy Naicker.

2. Who was Jyotiba Phule? What were his contributions in social reformation?
Ans.: Jyotiba Phule was a socidd A £ Of Aos (A & 01 AAA OEA O3 AOQUA
1848. He welcomed everyone into the Samaj without any distinction of caste and religion. This
organization worked for the upliftment of the oppressed classes.

3. Which organization was founded by E.V. Ramaswami Naicker for the benefit of the dalits?
Ans.: Self Respect Movement.

4. Who established temples in which images of gods were not kept?
Ans.: Shri Narayana Guru.



5. What did Mahatma Gandhi call the lower castes? Through which magazine did he cha mpion
their cause?
Ans.: Harijans or children of God. Harijan Magazine.

6. Due to whose efforts could untouchability be abolished by the Indian Constitution?
Ans.: Dr. B.R. Ambedkar.

Long Answers Questions:

1. What do you understand by caste system?

Ans.:

i) Hindu society was divided into different sections, each was known as caste. The castes were
created according to their functions in society.

i) Brahmanism and Khatriyas considered themselves as high class. The caste of vaishya was
related to trade. Shudras drmed the last class. They kept the cities and villages clears. Such
people were considered to be untouchable.

iif) The caste into which a man was born determined his whole life. It determined whom he would
marry and with whom he would dine and what hisprofession would be.

2. Explain untouchability? Why is it called inhuman?

Ans.:

i) The practice of social discrimination against the lower sections of the society is known as
untouchability.

i) 1.Itis called inhuman because the touch of the untouchables was considered impure.
2. Their very shadow was to be avoided.
3. They could not draw water from wells and tanks used by the upper castes.
4. They could not enter the Hindu temples, nor could thegtudy the shastras.
5. They lived in separate, specially demarcated areas.

3. Who was Narayan Guru? Explain his role in the upliftment of untouchables.
Ans.:
i) Narayana Guru was a leading light of the reform movement in the south.
i) He regarded distinctions b&ed on caste as meaningless.
i) He founded Sri Narayana Dharma Paripalana, Yogam in 1903, which popularized his belief on
one caste, one religion and one God.
iv) He devoted his whole life for the uplift of the untouchables.
v) He established a number of schools teducate people of lower castes.

4. Who was Kandukuri Veeresalingam? Discuss his efforts for the upliftment of the oppressed
and downtrodden.
Ans.:
i) Veeresalingam was a social reformer in Andhra Pradesh.
i) (A OOAOOAA A 4A1 O0CO EI6OMIAMHEIxEOBE OEA T AT A O6
i) (A xAO Al O OEA AOOET O | £ OEA EEOO0O 4A1 06CcO 1
iv) Through his writings he made ceaseless efforts to denounce the caste system.
v) He played a major role in the establishment of several schools for untouchables and working

class people

5. What did E.V. Ramaswami Naicker do for the benefit of the dalits?



Ans.0 AOEUAO 2A7I AOxAi U & 01 AAA OEA O3Al £ 2AO0DPAI
organization fought for securing reservation for lowcaste people in government jobs.tiwas due

to the efforts of this organization that the first amendment in the Indian Constitution was made to
safeguard the rights of the lowercaste Indians.

6. Discuss the contribution of Mahatma Gandhi towards removal of untouchability.
Ans.: Mahatma Gadhi started an All India AntitUntouchability League and also a weekly magazine
O(AOCEEAT &6 ET puwoo8 (A Al O O1 AAOOITE A O(AOEE
wherein he not only visited Harijan colonies and interacted with them but also hadheals with
them in their utensils.

7. What did Ambedkar want to prove by means of the temple entry movement?
Ans.: Dr. B.R. Ambedkar started a temple entry movement, in which his Mahar caste followers
participated. Brahmin priests were outraged. His aim indunching this movement was tosecure
the right of equality for every personin society.

GEOGRAPHY

SENIOR SHRERAM MODHE. HIGH SCHOOL
VIIIi SOCIAL SCIENCE A SSIGNMEN T (Geography) 20207 2021

Chapter 05 (Industries)
o 4

EXTRA QUESTIONS

Important Terms:

Large-scale Industries z Industries in which capital investment is large.

Small-scale Industries z Industries in which capital investment is small.

Public Sector Industry z Industries owned and run by government orits agencies for the welfare

of the people.

Private Sector Industry z Industries owned and run by an individual or individuals for profit.

5. Joint Sector Industry Zz Industries owned and run by the state and individuals or group of
individuals.

6. Cooperative Sector Industry z Industries owned and operated by the producers or suppliers of
raw materials.

7. Smelting z The process in which metals are extracted from their ores by heating beyond their
melting point.

8. Cottage Industries z Industries in which products are made by hand at small places.
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One Word Questions Answers:

1. Name the system under which goods are manufactured.
Ans.: Industry.

2. Which city is known as the Silicon valley of India?
Ans.: Bengaluru.



3. Give an example ofCooperative Sector Industry.
Ans.: Amul Milk Cooperative Society in Anand.
OR
Ananad Milk Union Limited.

4. Where are important iron & steel plants located? Name any of two places.
Ans.: Jamshedpur, Durgapur.

5. Write the full form of HMT.
Ans.: Hindustan Machine Tools.

6. Where are the bangle manufacturing factories located in India?
Ans.: Firozabad (Uttar Pradesh).

7. Name the industry that is the basic or the key industry.
Ans.:Iron & Steel Industry.

8. When and where was TISCO set up?
Ans.: In 1907 at Sakchi.

9. Who established TISCO?
Ans.: Jamshedji Tata.

10.When and where was the first cotton textile mill set up?
Ans.:In Mumbai in 1854.

11.Write down any two of the important centres of cotton textile industry in India.
Ans.: Surat, Ahmedabad.

12.Whichcity EO ET 1T x1 AO OEA O- AT AEAOOAO 1T £ * APAT &
Ans.: Osaka.
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13.Name the capital of Karnataka.
Ans.: Bengaluru.

14.7TEEAE AEOU EO AAI 1T AA OEA O- AT AEAOGOAO T &£ )1 AEA
Ans.: Ahmedabad.

15. Write down the full form of SAIL.
Ans.: Steel Authority of India.

Very Short Answer Questions:

1. 7TEAO EO 1 AAT O Au OEA OAOI OET AOOOOUGE
Ans.: Industry refers to an economic activity that is concerned with production of goods,
extraction of minerals and provisions of services.

2. What are the main factors influencing the location of an industry?
Ans.: The availability of raw material, land, water, labour, power, capital, transport and market are
the main factors which influence the location of an industry.

3. Which industry is often refe rred to as the backbone of modern industry and why?
Ans.: Iron & Steel industry is referred to as the backbone of modern industry because it provides
basis to many other industries.



. On which different bases can industries be classified?

Ans.: The classiftation of industries is as follows;
i) On the basis of raw material

i) On the basis of size.

iif) On the basis of ownership.

. What do you mean by forest-based industries?
Ans.: Industries which use products obtained from forests as their raw materials are callefibrest
Z based industries.

. What are mineral based industries?

Ans.: Industries which use raw materials obtained from minerals and rocks are known as mineral
based industries.

. Explain marine based industries.
Ans.: Marine-based industries use productgrom the sea and oceans as raw materials.

. Explain large scale industries with examples.
Ans.: Large scale industries run on higher amount of capital invested and use of superior
technology. Examplez production of automobiles and heavy machinery.

. What ar e small scale industries?

Ans.: Small scale industries run on small capital where all the products are manufactured by hand,
by the artisans, for eg.z Basket weaving, pottery.

10. Define industries on the basis of size.

Ans.: Classification of industries onthe basis of size refers to the amount of capital invested,
number of people employed and the volume of production.

11.How are industries classified on the basis of owner ship?

Ans.: On the basis of ownership industries can be classified into private sectstate owned or
public sector, joint sector and cooperative sector.

12.Which physical factors effect the location of an industry?

Ans.: Physical factors that affect the location of an industry are:
i) Availability of land

i) Availability of Raw Materials andEnergy Resources.

iif) Availability of Power

iv) Availability of water

13.Name the human factors that affect the location of an industry.

Ans.: Human factors that affect the location of an industry are:
i) Capital

i) Labour

iii) Means of Transport

iv) Location of Market

v) Policies of the Government.

14.What do you understand by Industrial Regions?

Ans.: Industrial regions are those where a cluster of industries are located in close proximity due
to its locational advantages.

15.From where doesTISCQOget its coal?

Ans.: TISCO uss coal from the Damodar Valley coalfields of Jharia and Raniganj.



16.Which industries were set up in Jamshedpur after TISCO?
Ans.: Industries which were set up in Jamshedpur after TISCO are
Locomotive, agricultural equipment, chemicals, machery and electrical industries

17.Where is Silicon Valley situated and what is it known for ?
Ans.: The Silicon Valley is situated in California on the western coast of the USA. It is well known
for the computer and electronics industry.

18. Which city is called the IT capital of India and why?
Ans.: Bengaluru is called the IT capital of India as many multinational companies are set up here.

19.Where is Ahmedabad located and why it is suitable for the growth of cotton?
Ans.: Ahmedabad is located on the banks of thBabarmati River. It is suitable for the growth of
cotton textile industry as the river provides abundant water for cultivation of cotton. The black soil
is also favourable for the growth of cotton.

20.Where is Pittsburgh and why it is famous?
Ans.: Pittsburgh is in USA. It is famous as it is an important centre of iron & Steel industry.

Extra Long Answers Questions:

1. What locational advantages are enjoyed by TISCO?

Ans.: It enjoys the following advantages.

i) All raw materials are available in close proximityGood quality of coal from Raniganj and Jharia.

i) lron ore is easily available from Singhbhum district of Jharkhand.

i) The Damodar River and its tributaries like Subarnarekha and Kharkari provide sufficient water
for the plant.

iv) Good quality of limestone and maganese are obtained from Odisha and Chattisgarh.

v) Cheap and abundant labour are available from the states of Bihar, Jharkhand, Bengal and
Orissa.

2. What were the reasons for the growth of cotton textile industry Osaka?
Ans../ OAEA EO ETT x1 ACG GADADGAR] ARACOMADEEAAT EAA
growth of industry are:
i) Extensive plain around Osaka for setting up the industries.
i) Warm and humid climate, avalaibility of hydel power and provision of abundant water for
cotton mills by river Yodo.
i) New and efficient machinery.
iv) Cheap and skilled workers.
V) Harbour near the sea coast provides transport facilities.

3. What are the chief characteristics of the cottage industry?

Ans.: The main features of this industry are:

i) They use locally available raw raterials and the products are made mainly for the local
market.

i) These industries are a type of household manufacturing units in which a family works in their
home with ordinary tools.

iii) Only little capital is needed in this industry. Potters weavers, blacksiths, carpenters are some
of the major groups of this industry.

TEXTUAL QUESTIONS



Short Answers Questions:

1. Distinguish between the following.
i) Agro based & Mineral based industries.
Ans.: Agro-based industries : Industries obtaining raw materials from agriculture are
called ago-based industries. For example: Sugar industry is agrebased because it
manufactures sugar by using sugarcane.

Minerals -based industries : Manufacture of iron and steel items, utensils, aluminium
doors, cupplates, etc. are mieral-based industries because the raw materials used by
them are obtained from minerals and rocks.

i) Large - scale & Small z scale industries.
Ans.: Large-scale industries : Some units are quite large in terms of the number of
employees and also the capitahvolved. They are called largescale industries. Examples :
iron & steel, ship building, rail coach building, aircraft building.

Small-scale industries : Paper manufacture, manufacture of plastic goods, bakery
products, dairy products etc. are smaidscde industries which have only a few employees
and the amount of capital invested in not very large.

iii) Public sector and Private sector industries.
Ans.: Public sector industries : Certain industries are owned by the government under its
full control. These industries are called public sector industries. Examples : SAIL, HMT,
ONGC.

Private sector industries : Industries under the control of an individual or a company
come under the category of private sector industries. Examples : Dabur India Ltd., Tata Iron
& Steel Company.

2. Define the term industry.
Ans.: Industry is an economic activity where raw materials are converted into useful finished
products with the help of machines.

3. State the locational factors of an industry.
Ans.: Locational factors of industies

Physical factors Human factors
Availability of land Capital
Availability of raw materials Labour
Availability of power Transport and communication
Availability of water Market
Government policies

4. Why is iron & steel industry called the basic industry?
Ans.: Because several other industries are dependent on it.

5. Name the important iron & steel plants located in West Bengal, Jharkhand and Orissa.
Ans.: TISCO (Jharkhand), Durgapur (West Bengal), Bokaro (Orissa).

6. What are Cooperative sector and joint sector industries?



Ans.: Cooperative Sector Industries: These industries are owned and operated by the producers
or suppliers of raw materials, workers or both. For example: Amul Milk Goperative Society in
Anand (Gujrat).

Joint Sector Industries: Industries owned and run by the state and an individual or a group of
individuals are called joint sector industries. Example : Maruti Udyog Ltd, Cochin Refineries
Limited, etc.

7.7TEU EO " AT CAI 6006 AAI 1 AA OEA O)1 &£ Oi AGEIT #ADPE
Ans.: Because it $ the hub of Information Technology industry.

Long Answers Questions:

1. Compare and contrast the locational factors of iron and steel industry in Jamshedpur, India
and Pittsburgh, USA.
Ans.: Jamshedpur in India : The location of iron and steel industry atlamshedpur has several
locational advantages. Sakchi is 32 km from the Kalimati railway station. All the raw materials like
iron ore, coal, limestone and manganese are available in close proximity. Nearness to the port of
Kolkata, banking facilities and darge market for iron and steel goods are other factors.

Pittsburgh in USA : The raw materials like iron ore come from Minnesota, about 1500km from
Pittsburg, Coal is available from local area. The Great Lakes provide the cheapest means of
transport for the steel industry. Rivers like Ohio also provide a large amount of water for iron and
steel plants.

2. Discuss the factors responsible for the development of cotton textile industry at Ahmedbad.
Ans.: Ahmedabad is located on the bank of River Sabarmati whigrovides abundant water for
cotton textile industry. The black soil of Gujrat is favourable for the growth of cotton. The humid
climate is favourable for spinning of cotton. Large area is available for setting up of cotton mills.
Avalilability of both skilled & unskilled labour, good network of rail and roads, nearness to the port
of Mumbai has facilitated the export of cotton textiles and import of machinery.

3. How are industries classified on the basis of raw material used?
Ans.: On the bais of raw matenals, industries can be classified into the following types:

Agro-based industries : Industries obtaining raw materials from agriculture are called agre
based industries. Examples of agrbased industries are cotton and jute textiles, food processing,
vegetable oil, etc.

Forest-based industries : Industries which use products obtained from forests as their raw
materials are called forestbased industries. For example, industries which manufacture paper,
furniture, cardboard, resin, etc.

Mineral -based industries : Industries which use raw materials obtained from minerals & rocks
are known as mineratbased industries. For example, the manufacture of iron & steel items,
utensils, aluminium doors, cement, machinery, etc.

Marine -based industr ies : Industries which utilize articles from seas and oceans as their raw
materials are called marinebased industries. For example, manufacturing fish oil and processing
sea food are marinebased industries.

4. What are the similarities between information technology industry in Bengaluru and
California?
Ans.:



) " AT CAIl 000 OAx OEA AAOGAT T PI AT O 1T &£ OEA Owl AAC
California.

i) Both the cities have a pleasant climate and good accessibility aacke well connected by means
of rail, road and air.

iii) Both have large number of skilled labour, a large number of highly trained and talented
professionals.

iv) Rapids growth can be seen in the field of software development and electronic industry and
information technology in both Bengaluruand California.

v) California is close to the most advanced scientific and technological centers similarly Bengaluru
has some of the best science, engineering and management colleges.

. Suggest five measures to minimize environmental pollution caused by indu stries.
Ans.:

i) Industries should make use of organic, nohazardous materials whenever possible.
i) Toxic waste should be curtailed and disposed off accordingly.

iii) Chemical wastes should not be disposed off into water bodies.

iv) Toxic fumes should be kept in check.

v) Noise pollution caused by heavy machinery should be kept in check.















